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=R 1. (1) Differentiate between ideal and real voltage
Paper : PH-07 SOUTCES.
Time : 3 Hours | [ Maximum Marks : 35 e} T AR deedl #iq H <R Hif
Note .— The question paper is divided into three Sections (i) Define transfer impedance.
A, B and C. Write answers as per the given
instructions. STIRA giqanen sl gRIfea Sifsa |
- T g ‘e, ‘T SR ‘| wmel B fawifa ) o What is peak | ltase 2
e S (111) at is peak inverse voltage 7
Section—A 7x1=7 Tatq RFrer dieea Fn T ?

(Very Short Answer Type Questions)

) (iv) Differentiate between Avalanche and Zener
Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one breakdown.
sentence or maximum up to 30 words. Each 0 ‘ . ‘
question carries 1 mark. TOCTRT T SR 99 # SR IR |
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(v) What are stray capacitances ?
srerifea enfiiard = § 2
(vi) Draw circuit diagrams of Hartley oscillator.

B <ifers &1 uiay o sAEu|

(vii) Differentiate between enhancement and

depletion modes.
Tgfg Td sae™ faur § =R aaRy|
Section-B 4x3%.=14
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 3%
marks.
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. Discuss short circuit admittance parameters and

obtain equivalent circuit.

AT FATAA UTaeil i foa=m ity ua qod aikay
I i |

. Determine junction capacitance for a linearly

graded junction.

erera: yaforg Gfe =1 Gfu-wnfar I sifsw

. Calculate ripple factor of halfwave rectifier. Explain

why it is high.
G- feewrl & Sfe quie w1 Mo s
REEI C A U I

. Discuss concept of load line. Explain how it is

useful in the determination of the operating point.
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6. Calculate the current gain, voltage gain, input and

output impedances for a CE-amplifier.

Given : h;, = 1 kQ, hg = 100, h, = 2 x 1074,

h,, =25 uV/A, Rg =1 kQ, Ry = 10 kQ.

T CE yads & fau om o, dieea oy, fesh 9
i gfdenen & AF 9@ &S|

e & @ h, = 1kQ, by = 100, A, = 2 x 1074,
h,, =25 uV/A, Rg =1kQ, Ry =10 kQ |

. What are stability factors ? Explain the biasing

process in the collector to base bias circuit.

T e 1 WG § 7 WUTES 9 SR SEE g9y

T et gfsen 1 T wifse

. What do you understand by feedback in an
amplifier circuit ? The gain of an amplifier without
feedback is 100. After applying feedback the gain

1s reduced to 80. Find the feedback fraction.

PH-07/8 (5) TC-269 1urnover

TF yads § [EHAvE 9 omd o gugma § 2 fa

TAHATA & Tk yad® &1 @ 100 ¥ 1 qAHAS o
R Y TR 80 & Il ¢ | GAHAe Frsufa e |

9. Prove that :
(A+B+C)A+B+C)=A+C
fag wifs -
(A+B+C)A+B+C)=A+C
Section-C 2x7=14
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 7 marks.
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10. Give statement of Norton’s theorem and prove it. 13. Describe the construction and working of

T THg w1 wUd w1 39 fag wifu) p-channel MOSFET. Why the ‘field effect’” words

: : : . are used here ?
11. Discuss smoothing process in a shunt capacitance

filter and calculate ripple factor. What happen pET 1Y SRS SIgHCh & que e B

hg c al o >y )
when filter capacitance increases ? SIS TS HIAYUIE 1 foeror S| 2@l ‘& g9

9Isal 1 YN i TR T ' ?
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12. Describe direct coupled multistage amplifier.
Explain its frequency response. Give advantages,

disadvantages and uses of it.
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